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QUESTION NO: 1

Which of the following are valid examples of script interpreters?

A. /usr/bin/bash

B. /usr/bin/perl

C. /usr/bin/python

D. /usr/bin/Cli

E. All of them

ANSWER: D 

QUESTION NO: 2

When configuring SSH, which file is needed for key-based authentication?

A. known_hosts

B. /etc/shadow

C. /etc/passwd

D. authorized_keys

ANSWER: D 

Explanation:

Reference: https://www.digitalocean.com/community/tutorials/how-to-configure-ssh-key-based-authentication-on-a-linux-
server

QUESTION NO: 3

Which two characters are required at the top of a script to inform the kernel on which interpreter to use? (choose two)

A. !!

B. $!

C. #$
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D. #!

ANSWER: B D 

QUESTION NO: 4

The init system in Linux has been replaced by what?

A. SysDB

B. systemd

C. ProcMgr

D. Lauchner

ANSWER: B 

Explanation:

Reference: https://www.quora.com/Why-is-“systemd”-replacing-“init”-in-Linux

QUESTION NO: 5

What must you do to get a complete report from the lsof command?

A. Run it at boot time

B. Make it part of systemd

C. Run it as root

D. Run it as a regular user

ANSWER: C 

QUESTION NO: 6

In bash scripting, which of the following comparison operators are used on strings?

A. -gt

B. -eq

C. ==

https://dumpsqueen.com/


DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com

D. <=

E. -f

ANSWER: C 
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